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QUESTION 1

Which two statements are true about the course structure in Activity Management in relation to the Course Catalog? 

A. The two course structures must be identical. 

B. The two structures must always contain the same components. 

C. The course structure in Activity Management does not have to match the Course Catalog structure. 

D. The two structures must contain the same description. 

E. Courses with multiple offerings and/or topics can share the same Activity Registry-

Correct Answer: BE 

 

QUESTION 2

Using the enrollment functionality, how can your client enroll a single student in a class with a grading basis of Audit? 

A. By creating a separate class section with a separate Audit grading basis from the course and enrolling the student in
this class 

B. By creating an audit grade entry for use in entering grades on the roster 

C. By assigning a positive service indicator to the student, specifying the class that has been chosen for audit 

D. By enrolling the student using Quick Enroll and overriding the course grading basis to Audit 

E. By creating a student attribute, specifying the class the student has chosen to audit 

Correct Answer: C 

 

QUESTION 3

Your client has a multi-institution setup. Both institutions have a course with the same name, but should be managed
separately between the two institutions because the setup between the two is completely different. What should you
do? 

A. Create one course ID with multiple offerings. 

B. Create one course ID with multiple components. 

C. Create two separate course IDs. 

D. Create one course ID and multiple class sections for each institution. 

E. Create one course ID with multiple course attributes. 

Correct Answer: C 
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QUESTION 4

Your client is considering using Quick Admit to admit students in non-traditional programs. Which two statements
describe the impacts of Quick Admit? 

A. After Quick Admit is completed, students are automatically activated in the program, bypassing the matriculation
process. 

B. Students must still be matriculated into a career and program following Quick Admit. 

C. Users will not be able to use Quick Admit again to add additional program activation rows in the same career. 

D. The program is activated through Quick Admit, but the user must still enter an Academic Plan on the Student
Program/Plan page. 

E. The Program/Plan stack will be activated through Quick Admit, but the student must still be term activated 

Correct Answer: E 

 

QUESTION 5

After saving an application on the Add Application component, your client realizes that the Program and Plan are
incorrect. What caused this incorrect data? 

A. The client had a Program and Plan entered on the User Defaults component and neglected to change it on this
application. 

B. The client does not have appropriate row-level security for the correct Program and Plan. 

C. The system overrode the Program and Plan with the values entered on the applicant\\'s prospect record. 

D. The Program and Plan are not entered on the Add Application component. 

E. The correct Program and Plan are not available for the selected Admit Type. 

Correct Answer: B 
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